Chapter 7, Scenario

1.
Monica, an administrator, wants to implement a fault-tolerance program for her Windows NT 4.0 system. She has an outline of possible alternatives that might offer the maximum results. With which of the following do you agree? Choose all answers that are correct. 

a.
Utilize Windows NT fault-tolerant software on both Windows NT Workstation and Windows NT Server.

b.
Because Windows NT Server 4.0 supports RAID levels 1 through 5, her current configurations will be sufficient without adding hardware.

c.
Because she has two hard drives and two controllers, it is best for her to mirror her drives.

d.
Because she has two hard drives and 32 MB of RAM, she should use RAID 5.

e.
If she creates a mirror set that includes the boot partition, she should make a fault-tolerance boot disk.

c and e. (pages 243/248)

Chapter 7, Lesson 1

1.
Which of the following RAID levels is supported by software for Windows NT Workstation 4.0?

a.
RAID 1.

b.
RAID 3.

c.
RAID 4.

d.
RAID 5.

e.
None of the above.

e. (page 241)

2.
Which of the following statements is true about read and write operations on identical Windows NT 4.0 Server computers, one with software RAID 5 and one with software RAID 1? Choose all answers that are correct. 

a.
Write operations are slower on the computer running RAID 5 software.

b.
Write operations are slower on the computer with a mirror set.

c.
Read operations are faster on the computer running RAID 5 software.

d.
Read operations are faster on the computer with a mirror set.

a and c. (page 244)

3.
A user with mission-critical data made his computer unusable while cleaning up the hard drive to make more space. You suspect that he has erased one or more of the files on the system partition that are needed to boot Windows NT 4.0. When you boot his computer from your MS-DOS boot disk, you find that the hard drives are inaccessible. Which of the following is the best way to begin to attempt to recover the data?

a.
Sending the computer to a data recovery shop.

b.
Rerunning the convert command to return the NTFS file structure to FAT.

c.
Booting from a Windows NT 4.0 boot disk and attempting to determine what is missing.

d.
Moving the hard drive to a working computer running Windows NT 4.0.

c. (page 251)

4.
A power user using a Windows NT 4.0 member server as a workstation has two 2-GB drives and one 1-GB drive. He has mission-critical data and needs the fastest possible configuration for I/O. Which of the following techniques would you use to configure his disk volumes to provide fault tolerance?

a.
Partition all drives as individual MS-DOS drives.

b.
Partition all drives but the boot drive as individual NTFS drives.

c.
Partition the drives as an NTFS stripe set using parity by using 1 GB on each drive, and then mirror the remaining two areas of free space for the system and boot partition.

d.
Partition the drives as an NTFS stripe set equal to the smallest drive and the remaining free space as a single volume set drive.

c. (page 244)

5.
On a computer running Windows NT Server 4.0, the system partition can be part of a stripe set with parity but the boot partition cannot. (True or False?)

False. (page 244) Neither the system nor the boot partition can be part of a stripe set with parity.

6.
It is necessary to shut down and restart a computer running Windows NT 4.0 Server when creating a stripe set with parity. (True or False?)

True. (page 246)

7.
Which fault-tolerance technique supports better read performance: mirror sets or disk striping with parity?

Disk striping with parity. (page 244)

8.
Which file systems can be contained in a mirror set?

FAT and NTFS. (page 245)

Chapter 7, Lesson 2

1.
Which of the following activities happens when a single hard drive of a stripe set with parity fails? Choose all answers that are correct. 

a.
Regular network operations continue, but at a slower pace.

b.
The network goes down.

c.
When the failed drive is replaced, Windows NT Server automatically regenerates the data on the new drive.

d.
When the failed drive is replaced, the failed drive must be rebuilt from the parity information using the Regenerate command on the Fault Tolerance menu of Disk Administrator.

a and d. (pages 248-49)

2.
Which of the following statements about the partition represented by multi(0)disk(0)rdisk(1)partition(2) is true? Choose all answers that are correct. 

a.
The partition could be on a SCSI hard drive on which SCSI BIOS is enabled on the SCSI controller card.

b.
The partition could not be on a SCSI drive.

c.
The partition could be on an IDE drive.

d.
The partition is the third partition on the hard drive.

e.
The partition is the second partition.

a, c and e. (page 254)

3.
On a Windows NT 4.0 server with fault tolerance, backups are unnecessary. (True or False?)

False. (page 256) Fault tolerance cannot protect a system from user error, deletion of an important file, or total system failure. Backups are still needed.

4.
A fault-tolerant boot disk for Windows NT 4.0 may be formatted with MS-DOS. (True or False?)

False. (page 252) A fault-tolerant boot disk for Windows NT 4.0 must be formatted with Windows NT 4.0, or the disk will not boot to Windows NT 4.0.

5.
Which file contains the ARC paths used to point to the location(s) of the operating system files?

Boot.ini. (page 254)

6.
When one part of a mirror set fails, should the mirror set be broken or deleted in order to lose the least amount of data?

Broken, and then the system should be booted with a boot disk that will reference the good partition. (pages 249-50)

